
Water Scintillator	(PVT)

• Modified	ProtonPB	tutorial:
• Simple	proton	pencil	beam	at	62	MeV
• Straight	into	detector
• Comparing	water	and	scintillator	detector	volumes
• Detector	box	dimensions:	4	cm	x	4	cm	x	4	cm
• Both	plotted	against	“Clatterbridge	data”	in	ClatterbridgeData.txt	
which	was	recorded	at	60	MeV
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Superposition	of the plots from the two last	slides

62	MeV 60	MeV



Next,	tried	to	replicate	Clatterbridge	simulation	including	the	proper	geometry.

The	source	is	placed	at	-420.0	cm	which	corresponds	to	the	wall	on	the	right.

Added	a	scoring	mesh	in	the	same	location	as	the	detector	at	-243.15	cm	with	
the	same	dimensions	-->	detector	location	on	next	slide



Detector



Unfortunately	still	getting	errors	and	nothing	actually	happens	in	the	detector…

Source


